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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

How many arrangements can be made out of the letters of the word ‘ENGINEERING’?

SNTIRT 2rec & 37eRT H fhdt ra<elT BY ST Jabd! 272

® Click to watch Free Video Solution of this question on Doubtnut

2 -4823913

IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

How many words can be formed form the letters of the word DAUGHTER so that The vowels always
come together? The vowels never come together?

'DAUGHTER' 2I&Z & 378RY b1 foba 31T dlleh A afEed fbam ST JebdT & difds TR gH2T Teb HTef 31 Jdb?

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word ‘DIGEST’ be arranged so that the vowels are
never together?

"ShamSSiisel’ 2reg &b 31&RYT B foba~ 37T diih T WIfXed fdsar ST YepdT & dTfds TR BT Uep T 7 8?7

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word ‘DETAIL be arranged so that the vowels occupy
only the odd positions?

"fIeROT 2/ec & 318RT BT fohd~ 37T dlid I IAREd fbaT ST YebdT € difds R bad fauq f&faal R Pesll B
Tdh?

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many ways, a committee of 6 members be selected from 7 men and 5 ladies, consisting of 4 men
and 2 ladies?

feba adtepl &, 7 gl 3R 5 Afgersil ¥ 6 Heil b1 Vb AiAfd &1 = fdar ST =nfey, S 4 gow 3k 2
AfgeTg 2nfiet &2

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

(7P, — ™Cy) = ? (a) 0 (b) 75 (c) 150 (d) 2775 (e) 5550

(7P, — ™Cy) = 7 ()0 () 75 (&) 150 () 2775 (£) 5550

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word GAMBLE be arranged? (a) 15 (b) 25 (c)
60 (d)125 (e) None of these

et ereg & 31&RY BT fhdq 31T Rih F AT fhaT ST FebaT 22 (T) 15 (1) 25 (F) 60 () 125 () e/ I
BIE TEl
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word TOTAL be arranged? (a) 45 (b) 60 (c)
72 (d)120 (e) None of these

Pl 2Meg P 3ERT BT fbad 31eT7T alls J Hafd fasam ST HepdT 22 (T) 45 () 60 () 72 (81) 120 () e7H &
CEEEH]

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word WEDDING be arranged? (a) 2500 (b)
2520 (c) 5000 (d)5040 (e) None of these

WEDDING 2&& &% 31&RY PI fosa 37T s F afed fasar ST asar 82 (T) 2500 (d) 2520 () 5000 (Et)
5040 () 374 A BIg TEl

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word ABSENTEE be arranged? (a) 512 (b)
6720 (c) 9740 (d) 40320 (e) None of these

oeZ & NeRT W fdsd 37 adip 8 Ihd 8 ABSENTEE wafed €17 () 512 () 6720 () 9 740 (3h)
40320 (3) 378 A B WY TEl

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word RUMOUR be arranged? (a) 30 (b) 90 (c)
180 (d) 720 (e) None of these
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RUMOR 2162 & 37&RY @1 fosd 31e17T diies & gafeeid fbar i1 Febdl €7 (T) 30 (1) 9 0 (&) 180 () 720 (€)
T J BIE T8
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
Out of 5 men and 3 women, a committee of three members is to be formed so that it has 1 woman and 2
men. In how many different ways can it be done? (a) 10 (b) 20 (c)23 (d) 30 (d) None of
these

12 - 4823938
5 g8 3R 3 Afgersil § § 17 gl & gep Ainfd a8 STt @ arfes gaq7 1 Afget 3iR 2 go9 811 I e 31
TP I fdaT ST BT 22 (T) 10 (&) 20 () 23 (1) 30 () 576 T B T&F
® Click to watch Free Video Solution of this question on Doubtnut
IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
A committee of 5 members is to be formed out of 3 trainees, 4 professors and 6 research associates. In
how many different ways can this be done, if the committee should have 4 professors and 1 research
associate or all 3 trainees and 2 professors? (a) 12 (b) 13 (c) 24 (d) 52 (e) None of these

13 - 4823940
3 wifelgg3i, 4 WIERT 3R 6 2Ny FEAITal § F 5 Hel &Y Teb Hwfd b1 T febar ST 81 Afe AiAfd & g 4
MR 3R 1 2y Hgantt a1 |t 3 ufigf 3ik 2 WseR g1 =1fey, df 8 fba 37 ieh § febq o Hebdl 82
(T) 12 (1) 13 (&) 24 @) 52 () =70 A B TEN
® Click to watch Free Video Solution of this question on Doubtnut
IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
A committee of 5 members is to be formed by selecting out of 4 men and 5 women. In how many
different ways the committee can be formed if it should have 2 men and 3 women? (a) 16 (b) 36
(c) 45 (d) 60 (e) None of these

14 - 4823943

4 g1 3R 5 Afgelrsil § & gaax 5 Tl HI Teb FiAfd T o7 fosar Si1 21 Afnfd &1 757 S fbar <1 epar &
Ife o 2 g9 31 3 Afgare g1 a1fge? (T) 16 (3T) 36 (31 45 () 60 () 70 I PIE T8l

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
A select group of 4 is to be formed from 8 men and 6 women in such a way that the group must have at

least 1 woman. In how many different ways can it be done? (a) 364 (b) 728 (c) 931 (d) 1001 (e)
None of these

4WWW8Wﬁ6H@Wﬁ®wmﬁwmmﬁqﬁ5w§ﬁmﬁm1FF%FITE’H?%!T%m B
fdsar 31T s fdsam ST ek 272 (T) 364 (1) 728 (If) 931 (31) 1001 (3) s7H A BIS &l

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
From a group of 7 men and 6 women, 5 persons are to be selected to form a committee so that at least
3 men are there on the committee. In how many ways can it be done? (a) 564  (b) 645 (c) 735 (d)
756 (e) None of these
16 - 4823947
7 gotl 3R 6 AfgeTsi & Y FYE A, WAl a7 & Ay 5 eafdial &1 =2 fban ST =nfey drfes o0 & B 3
oY AT W 8| I8 S alte! F faar ST TasdT 272 (T) 564 () 645 (IT) 735 (1) 756 () 78 A BIE Tal
® Click to watch Free Video Solution of this question on Doubtnut
IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
In how many can a group of 5 men and 2 women be made out of a total of 7 men and 3 women? (a)
45 (b) 63 (c)90 (d)126 (e) None of these
17 - 4823950
gﬁf7W3ﬂ?3w@mﬁﬁﬁsg€ﬁ3ﬂ?2ﬂ%mﬁéﬁwﬁﬁmﬁmmwa‘7 ) 45 () 63 () 9 0
1) 126 (3) 3TH A BIS TE
® Click to watch Free Video Solution of this question on Doubtnut
18 - 4823951 IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word ENGINEERING be arranged? (a) 277200 (b)
92400 (c) 69300 (d)23100 (e) None of these

SRR SSfAaRT & 37eRY BT fdaa 37 diids I afRed fasar ST TqadT 82 (T) 277200 (d) 9 2400 ()
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69300 (g1) 23100 (3) 574 & g f T&

® Click to watch Free Video Solution of this question on Doubtnut

19 - 4823954

IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word AUCTION be arranged in such a way that the
vowels always come together? (a) 30 (b) 48 (c) 144 (d) 576 (e) None of these

AUCTION 2[&& & 31&RI I 59 a8 I HafEd fdaT ST HehdT © b TR 02T b JTf & 37Td 82 (T) 30 () 48
() 144 (1) 576 () 37 A B TET

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word BANKING be arranged in such a way that the
vowels always come together? (a) 120 (b) 240 (c) 360 (d) 540 (e) 720

JfdT 2reg & 37eRT BT T AP I FARAT THAT ST TbaT & b TR AT Tab TTY 31Td 82 (V) 120 (dfh) 240 ()
360 (1) 540 () 720

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many ways can the letters of the word MATHEMATICS' be arranged so that vowels always come
together?

HINFERT 2reg & 31eRT BT 5T s A ARG o ST ThaT € fos TR gW2AT U T1 37Td £72 (T) 10080 (&) 120
9 60 (1) 4 9 8 9 600 (1) 20160 (3) 3TH A BIS Wt 78T

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

There are six teachers. Out of them tow are primary teacher, two are middle teachers, and two are
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secondary teachers. They are to stand in a row, so as the primary teachers, middle teacher, and
secondary teachers area always in a set. Find the number of ways in which they can do so.

Bg forarp &1 370 I < wefie forere € 3tk <) areafies foard &1 T Ufadd o s 81T §, safeiy weifies faiars,
ey felerds 3R ATeafie felerds R Udh e N gd B 3 o adtds & U1 o Iahd §, I8 & (T) 52 (dt) 48 (1) 34
(E1) 378 J B Wt A&

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In how many different ways can the letters of the word ‘TRANSPIRATION’ be arranged so that the
vowels always come together? (a) 2429500 (b) 1360800 (c) 1627800 (d) None of these

CIAFERLMA 26 & 3R] B fdsd- 3TaTTT dlich | I T ST ehdT & dTfds ¥a” gHRIT Ueh N1l 31T [h? (V)
2429500 () 1360800 (Ht) 1627800 (1) 78 A BIE Wt 78T

® Click to watch Free Video Solution of this question on Doubtnut

doudt

T g AN

WS DETERMINANTS

244 minutes 39 concepts

N Class: 12th
NCERT

Learn All
Topics
For FREE

24 - 4823987

IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

Two unbiased coins are tossed. What is the probability of getting at most one head?

a1 fAsmer ek % U STTd €1 31fieedR IR R 81 &Y JTaHT T 872

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

A bag contains 6 white and 4 black balls. Two balls are drawn at random. The probability that they are of
the same color is

T 311 H 6 T 31 4 Bt 1 Bl &1 argfes Bu o 7wt oiredt &) S fF A vE S s

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
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Two cards are drawn at random from a pack of 52 cards. What is the probability that either both are
black or both are queens?

52 HT$H &b Ueb A AT BT Tgfceh BU A Hidl SITd & | FHUTEAT T & Teb T BTed & AT QA1 i1 872

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

Three unbiased coins are tossed. What is the probability of getting at most two heads ?

m%w@WWﬁmﬁﬁmﬁﬁmwmﬁWWwﬁ%@%@%m—

0|

® Click to watch Free Video Solution of this question on Doubtnut
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. : . . : 1 2 3
In a simultaneous throw of two dice, what is the probability of getting a total of 77?7 3 (b) 1 (c) 3 (d) 1
28 - 4823998
: . . 1 1 2 3
A YT & A7 TpA N, oA 7 TTed B DT AHTIAT o7 272 5 (=) 1 i) 3 (=) 1
® Click to watch Free Video Solution of this question on Doubtnut
29 - 4824002 IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

Two dice are thrown simultaneously. What is the probability of getting two numbers whose product is

220 da2
even? < (b) - () g (&) ¢

21 T Ueb A1) theb T STl &1 &1 HBATY YTed & bl FHTET o4 & foiepT 3care; i 872 % (@) % ) % )
5
16
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at random. What is the probability that
the ticket drawn bears a number which is a multiple of 3?

fedpe 1 & 20 a& fAfId g1d & 3R iR fodpe T1gfce wu I Wiar Srar &1 m IHTET 2 16 eae daR @ va

3 .2 1
() = (=)

3
mq%‘amaﬂasag%?l—o(a)z—o = @5

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

In a lottery there are 10 prizes and 25 blanks. What is the probability of getting a prize?

Al #, 10 PR 3R 25 R T 21 A1gfcse BT F dledt dIR B STt 81 JREPR YT A bl FHTaAT T
1 2 2 5
87 10 ) 5 i) = C)) =

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
One card is drawn at random from a pack of 52 cards. What is the probability that the card drawn is a
1 4 1 9
?2 — — -
face card” 13 (b) 13 (c) 1 (d) 59
32 - 4824006 ) 4
52 BTE & Ueh I ATGBP U J TP HIS WIaT ST &1 PIS Dl Tidl TS T BT FIT FHTEAT 872 3 (@) 3 ()
1 - 9
195
® Click to watch Free Video Solution of this question on Doubtnut
33-4824010 IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

The probabilty that a card drawn from a pack of 52 cards will be a Diamond or a King is:- (a) 2/13 (b)
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4/13 (c) 1/13 (d) 1/52

. . 2 4 1 1
THTEAT 2 fob 52 BT & Uch U Wi TRT BTE ERT AT IS BT 13 (=) 5} (M 13 (=) T2

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

Two cards are drawn together from a pack of 52 cards. The probability that one is a spade and one is a

hrt'3b29 47d13
eart,is 55 ®) 37 © 750 @ 102

52 78 5 s 21 e R T 1 S s s 0 e R, (1) o ()
47 13
100 ) 102

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

A box contains 4 red, 5 green and 6 white balls. A ball is drawn at random from the box. What is the

2 3 1 7
probability that the ball drawn is either red or green? — (b) — (¢) — (d) —

5 5 5 15 (e) None of these

TS gia | 4 A1, 5 & 3R 6 T 1 8t €1 dTa | ATg (e BU | Ve 1 @id! STt 21§91 2 fas @ie 78
e a7 Y AT AT &7 82 % (=) % () % (=) % () 3T A BIE TE

® Click to watch Free Video Solution of this question on Doubtnut
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36 - 4824019 IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If two marbles are drawn at random from

1 2 2
the urn, what is the probability that both are red? 3 (b) = (c) R (d) 5 (e) None of these
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® Click to watch Free Video Solution of this question on Doubtnut

IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If four marbles are picked up at random,

3 24 11 1
. - . . I 4
what is the probability that 1 is green, 2 are blue and 1 is red? 35 (b) — 155 (c) — 15 (d) 13 (e) None of
these
37 - 4824022
Tep 371 § 6 oTTcT, 4 Hiel, 2 & 3R 3 Uiel UeeR 8ld 2 aﬁa@ﬁ‘a‘cﬁm@wq‘mmaﬁﬁ AT THTaAT T §
. 13 24 11 . .
s 1808, 27 € 31k 1 areT 22 5 (@) 5 (qﬂ) — ( )— @) 379 A BIS A&
® Click to watch Free Video Solution of this question on Doubtnut
IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
A basket contains 6 blue, 2 red, 4 green and 3 yellow balls. If two balls are picked up at random, what is
4 5 1 2
the probability that 2 are red and 2 are green? R (b) —= 57 (c) 3 (d) 155 (e) None of these
38 - 4824024
Te Al | 6 Ao, 2 1o, 4 & 3R 3 Uied 307 HY 71 gl 31 Uﬁ:ﬁﬁﬁaﬁra@@mmﬁmwi GUESEICE!
. 4 ) 1
RN 2ATEIN2WE? — (F) — @) = (@ q
H H e 15()27()3( 455§s=|ﬁ BIg TEl
® Click to watch Free Video Solution of this question on Doubtnut
IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY
An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If 4 marbles are picked up at random, what
4 69 11 22
2 _ — _ -
is the probability that at least one of them is blue” 15 (b) o1 (c) 15 (d) o1 (e) None of these
39 - 4824026

T 3 H 6 @1, 4 i, zsifsﬂ?sqﬁq‘cwzﬁ%”l uﬁ;a@ﬁ?@zﬁw@4wﬂ?mm§,ﬁwgﬁﬁ3ﬂﬁ
69

@ao‘q@ra?trw:ﬁm%?%( o (;'m— é S A P

® Click to watch Free Video Solution of this question on Doubtnut
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IBPS CLERK EXAM SPECIAL - PERMUTATION AND PROBABILITY

A basket contains 6 blue, 2 red, 4 green and 3 yellow balls. If 5 balls are picked up at random, what is

137 18 9 2
(d) — (e) None of these

the probability that at least one is blue? 143 (b) ViR (c) o1 5

Tep At H 6 Alet, 2 ATed, 4 & 31 3 el 31 b1 71 Bt 21 fe 5 71l Bl Argfedes ©9 A 31T ST &, df FHTaT
137

18 9 2 . .
2 6 B9 A BH T NeAT 872 i (@) Y i) o (=) 5 ) T8 A P T
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